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Hh—>x BC = 130,000
KIVIVARE |90 YEVSIR—K = 90 HARR—FK Mix 90,000 WN = 130,000
HERT Oak = 120,000
BC = 180,000
135 YEVSR—K = 135 HAKKR—F Mix 120,000 WN = 180,000
Oak = 170,000
BC = 220,000
180 JEV S HR—F = 180 H/KKR—F Mix 155,000 WN = 220,000
Oak = 210,000
. — o WN 85,000 = 95,000
=2 45 fif Y 4 = 45 TARTLAFrERYE o 75.000 ok > 85000
BC 16,000 = 15000 |{EFIF
30 Rk = 30 F—JILbyT WN 14,000 = 15,000
RO 12,000 Oak = 14,000
BC 25,000 = 22000 |[fETFIF
60 X1 = 60 T—JILbyT WN 22,000 = 22,000
RO 19,000 Oak = 20,000
BC 44,000 = 42000 |EFIF
120 KR = 120 T—JILkyT WN 39,000 = 42,000
RO 34,000 Oak = 34,000
BC 55,000 = 54000 |fETFIF
ATF7—IL 150 X#k = 150 F—J )Ly T WN 48,000 = 54,000
RO 41,000 Oak = 43,000
BC 67,000 = 66,000 [fETFIF
180 X#k = 180 F—JILryT WN 58,000 = 66,000
RO 49,000 Oak = 52,000
BC 81,000 = 79,000 [fETFIF
210 X = 210 7T—TILby T WN 70,000 = 79,000
RO 59,000 Oak = 62,000
BC 97,000 = 97,000
240 X = 240 T—TILkvT WN 84,000 = 97,000
RO 71,000 Oak = 74,000
BC 80,000 = 85,000
F4RYrI  [TOFLyH— WN 75,000 = 85,000
RO 70,000 Oak = 75,000
BC 28,000 = 30,000
80 25— TLD WN 26,000 = 30,000
= (o RO 24,000 Oak = 28,000
TATW BC 26,000 = 28000
50 25— T)LD WN 24,000 = 28,000
RO 22,000 Oak = 26,000
0 = oo UPX 25000 | = 30000 |
)—JR BAZTF—TIL-5IHL (AT ay) XBEDEA— T L-TS2E BERTT
BC - = 200,000
85 EX& /=25 FT7—T L WN 190,000 = 200,000
Paw RO 150,000 |Oak = 160,000
BC - = 260,000
150 EX5 A =5 T—T )L WN 230,000 = 260,000
RO 180,000 |Oak = 220,000
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BC 77v9F1)- 34,000 34,000 36,000
)—J R BAL=2GF7 | WN 95—l yb 32,000 34,000 36,000
Oak Lyh74—% 30,000 31,000 32,000
BC 7'7v9F1- 30,000 30,000 32,000
FAL=VTFT7 | WN 9= Fob 28,000 30,000 32,000
Oak Lyh7-) 27,000 27,000 29,000
BC 7'7v9F1- 26,000 26,000 28,000
aa T AY—)L WN  9#4=LFvk 24,000 26,000 28,000
Oak LybM#-% 23,000 23,000 25,000
BC 77v9F1- 24,000 24,000 26,000
2Aa7Fx7 WN 9=l Fvk 22,000 24,000 26,000
Oak Lyh71—9 - - 23,000
BC 77v9F1- - - 38,000
TR A= F7 | WN 5= yb 38,000 38,000 38,000
Oak Lyh7-) - - 36,000
BC 7'7v9F1- 34,000 34,000 35,000
e WN  9#4=LFvk 32,000 34,000 35,000
h=> IA=2TF=7 Oak Lyh7=9 - - 31,000
B2 - 5,000 5,000 6,500
BC 77v9F1- 32,000 32,000 32,000
ks FA=VTFT7 | WN 9=l v 30,000 30,000 32,000
Oak Lyhb%4-9 - - 30,000
A BA=_ G FT LEM HERT HhaOy kiBH
BC 7'7v9F1- 44,000 47,000 47,000
AILED T—LFzT WN 9= Fvh 41,000 47,000 47,000
Oak Lyb#4—9 38,000 40,000 40,000
BC 77v9F1)- - - 65,000
H—R FT—LFIT WN 9= Fvb 62,000 62,000 65,000
Oak Lyh74—% - - 60,000
BC 7'7v9F1- 64,000 68,000 68,000
)%= F—LFIT WN  94=LFyt 62,000 66,000 68,000
Oak Lyh7#—% - - 62,000
BC 77v9F1- 28,000 29,000 28,000 |{ETITF
N RY—)L WN  94=LFvk 26,000 28,000 28,000
Lok Oak l/:y_l~“7f—7 - - 26,000 :
BC 77v9F1)- 24,000 26,000 25,000 |[fETIF
AY—)L WN 9=l Fvk 22,000 25,000 25,000
Oak Lyh71—9 - - 23,000
BC 77v9F1)- 21,000 21,000 24,000
J0—Fz AY—)L WN  9#=)LFyk 20,000 20,000 24,000
Oak Lyb74—9 19,000 19,000 22,000
twhoT AY—)L LFM HERT Fhany K8




